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Economics

1. If y = fix;, x,) is a homogeneous
function of degree one, then

dy dy
x,—+x,—=0
(A) 16)61 2 6)62
dy dy
X, ——+Xx,—=
(B) laxl 2 axz
y y
X —+x,—=1
(C) 1 axl 2 axz

(D) de +a—y.dx =y

2. Risk aversion relative to lottery implies

(A) utility of its expected value >
expected value of its utility

(B) expected value ofits utility > utility
of its expected value

(C) expected value ofits utility =utility
of its expected value

(D) utility of its expected value >
inverse of the expected value of
its utility

3. Match the following:

List-1 List-11
(a) Frank Notestein (1) Transaction
Cost
(b) W. Hanemann (i) Demographic
Transition
(c¢) R. Coase (iii) Contingent
Valuation

(d) N. Kaldor (iv) Compensation
Principle
Codes:
@ ®) (@© @
(A) (i) @Gv) Gy (@)
B) (i) G @) Gv)
© @Gy Gi) @ aGv)
D) Gy @) @) @[Qv)

1. My =£f(x,, x,) 9 GG IR SCAFEF
=, 9

%y oy
X, —+x,—=0
(A) laxl 2 axz
%y %y
X, —+x,—=
(B) 16)61 2 6)62 y
oy oy
X —+x,—=1
© 4 6x1 2 6x2

(D) ——.dx +——.dx,=y

(A) 93 ZepifFe W TraEfarel >
Toifored eenif*e e

(B) @3 ToA@Ifaeld oo e >
2GRS T SIS

(C) @3 TH@IfooR eeonfe e
2GRS MF SIS

(D) @3 Zofiffe W=a Toferel >
THAIfSTSIA 2esire M inverse

3. WSS Listate s Afe g ¢
List-1 List-11
(a) Frank Notestein (i) Transaction X
(b) W. Hanemann (ii) Demographic Transition

(¢) R. Coase (iii) Contingent Valuation
(d) N. Kaldor (iv) Compensation 0
HIPOTYL ¢

(@ () () (@
(A) (i) @Gv) () (1)
(B) @) () @) (Gv)
©) G i) @) (@Gv)
D) () @ aGi) @(v)
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4. Choose the correct statement:

(A) Thedemand function for any good
is homogeneous of degree zero in
only prices.

(B) Compensated demand function is
homogeneous of degree zero in
prices.

(C) Income elasticity can be derived
for compensated demand
function.

(D) Compensated demand function is
homogeneous of degree zero in
prices and income.

5. Second order condition for profit
maximisation of 3rd degree price discriminating
monopoly is
(A) MR, =MR, =MC
(B) Slope of MR, < Slope of MC
Slope of MR, < Slope of MC
(C) Slope of MR, = Slope of MR, =
Slope of MC

(D) Slope of MR, > Slope of MC
Slope of MR, > Slope of MC

6. In case of an isoquant
(1) all isoclines are expansion paths.
(i) expansion path is an isocline.
(iii) there may be more than one
expansion path.

(iv) there may be more than one
isocline.

Choose the correct options:
(A) (1) and (i1) are true.
(B) (i) and (iv) are true.
(C) (i1) and (iv) are true.
(D) (i1) and (ii1) are true.

4. H0F TGO 1% T3 ¢

(A) I G IRV S0 Y RICT
(A ¥y QIS < |

(B) Compensated 512w SIo WIS
(A ¥y QI A0 |

(C) Compensated RIEG IR I GT
CFg Sae Rfeziemel Nmeld
4 @O ANI |

(D) Compensated BIfzl ST 7w
A NG CF(Q X[« QI I |

5. CORI WGF 7 ST GG FRARE
I AR o WA 1S 25

(A) MR, = MR, = MC

(B) MR ;-49 0leT < MC-49 bTef
MR ,-47 Bl < MC-49 Bi&T

(C) MR ;-4% TlsT = MR,-49 TleT =
MC-49 Ole]

(D) MR -4 Ble1 > MC-9< TleT
MR ,-47 & > MC-49 Bie

6. AT @R (FCG
(i) I IO (2 22 Jiad 212 |
(i) M@ A2 2eT G Ao (2 |
(iil) @Il a2 A A |
(iv) GIfEF TACE @2 AFCS ANF |
A5 optionfs 21w e ¢
(A) (i) 9% (ii) =51 APF |
(B) (i) €3 (iv) T AT |
(C) (ii) €% (iv) =1 AT |
(D) (i) €% (iii) Z&1 Al |



7. Assertion (S) : There is a natural tendency
to collude under oligopoly.

Reason (R) : There exists
interdependence of firms
in oligopoly market.

Identify the correct statement from
below:

Codes:

(A) Both (S)and (R) are correct and (R) is
not correct explanation of (S).

(B) Both (S)and (R) are correct and (R) is
the correct explanation of (§).

(C) (S)is correct but (R) is wrong.

(D) (S)is wrong but (R) is correct.

8. Pick out the correct answer:

The sum of income elasticity of demand,
own price elasticity of demand and cross price
elasticity of demand is

(A) 1

(B) Indeterminate
(C) Zero

D) -1

9. Alossbearing firm will continue to produce
in the short run so long as the price at least covers
(A) Average variable costs
(B) Average fixed costs
(C) AVC + AFC
(D) Marginal costs

10. Identify the wrong statement:

(A) Asymmetric information refers to
a situation where one party to a
transaction has more knowledge
than the other.
Asymmetric information leads to
Moral Hazard when one party to a
contract deviates from the agreed
behaviour.
Asymmetric information leads to
adverse selection when action is

(B)

©

hidden.
(D) Asymmetric information leads to
adverse selection when

information is hidden.

X-5
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7. Assertion (S)¢ Oligopoly eI F(Qq

Tl @IF 2 collude F41
(?IW W) |
Reason (R) ¢ Oligopoly A& SEfSel
qF |
Soa Tfeae (A A Sfeh iz o ¢
TPOTIZ ¢
(A) (S) @32 (R) Toag A5 92 (R)
AT (S) & A T |
(B) (S) 92 (R) Te33 7T @t (R)
AT (S) & AW I |

(C) (S) 5= @ (R) Afos 771 |
(D) (S) 7o 77 58 (R) 75|

8. s Teal v T3 ¢
Riogisimel @3z Sifenia siF=ifts Rz
(N9T=PeT 2T
(A) 1
(B) wifedizecaia
(©) ==
(D) -1
9. a3f5 wfoagmaa T FHFE o
J® Teolve wifF AIWca, Towd Wi
aeTelr gba 7w 7
(A) G ST 7
(B) % fgg 5%
(C) TG AfTTSTAE 3 + 9IC 77 %
(D) @ifes
10. T& IGH *G P ¢
(A) Asymmetric information GEaT
O], @ EETE G0 A
AT AT g @ AT
SO SRR 2 |
Asymmetric information Moral
Hazard 01 7% 353, 794 pfes
G HiEoT S599 (A [pre
B
Asymmetric information adverse
selection-43 A 7% 0, T4
G fempeniof (alioie AT |
Asymmetric information adverse
selection-43 A 7% 0, T4
Oy (AN AT |
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11. The First Theorem of Welfare Economics
states that

(A) a competitive equilibrium is not
Pareto efficient.

(B) a competitive equilibrium
maximises profit.

(C) allpricesareequal inacompetitive
equilibrium.

(D) acompetitive equilibriumis Pareto
efficient.

12. Which of the following, according to
Prof. Bain does not constitute a barrier to
entry?

(A) Product differentiation
(B) Absolute cost advantage
(C) Economies of scale

(D) Elasticity of demand

13. When U(x) is the utility function of ux,
measure of absolute risk aversion is

(ay - Yox
U'x
e
0 -2
o) - U”(x)

11. Welfare Economics-43 23 2ifosiivg eI

(A) 2SR SRR Pareto W&
T

(B) eferifron@s SRy I
T = |

(C) dfswiforere SRIGT 37 7N
S 2T |

(D) @I ORETF SR Pareto W |

12. Prof. Bain-«43 Wce fagfafie @@t a@e@
A2 aifoamael 7% 7 12

(A) @Iy o0l

(B) B I ARl

(C) Wgiore wieltafoss
(D) vifenia fEfogi=rrel

13. U(x) I x-a93 Tl Sorsss 23, @&

5 i Rwefel-a7 sifasiol 251
(ay - Yo
U'
o -0
© - (l]f ’I(z)

D) -



14. If the

Md
—=1000+0.2y —1000r where
p
p =200,y =2000, r =0.1, the velocity of

circulation of money is

A 13
®) 207,
© 294
® %o

demand for money is

15. Inthesimple keynesian model, if an increase
inthe level of investment is accompanied
by reduction in the propensity to save,
the combined effect will be

(A) Anincreaseinthelevel of savings
and output.

(B) Anincreasein thelevel of savings
but a reduction in output.

(C) Eitherreductionorariseinsavings
but a definite rise in output.

(D) A reduction in savings but an
increase in output.

07

14. If7 RICE sifzw X

Md
21000 +0.2y —1000r @2
p

p =200,y =2000, r =0.1, STC7 T3 o9 2@
A 13,
®) 20/,
© 207
®) %0

15. KR @A 0, AW R 8=
I 0 A0 AL 29S| g AR, O IS 2O
6

(A) AR 3R TRAMCI B I |

(B) @ WEE @ % TeAME
WA |

(C) A%@T V@A g A I e
TRAMCR W M |

(D) %7 g 5% Sesimeas Ji |
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16. An increase in money supply has a small
effect upon equilibrium output when

(A) The demand for money and
investment spending is interest-
insensitive.

(B) The demand for money and
investment spending is interest-
sensitive.

(C) The demand for money is interst-
sensitive and investment spending
is interest-insensitive.

(D) Thedemand for money isinterest-
insensitive and investment
spending is interest-sensitive.

17. In Baumol’s theory of transaction demand
for money, money demand is

(A) an increasing function of bond
supply, brokerage fee and rate of
interest.

(B) adecreasing function of nominal
GDP and rate of interest, but an
increasing function of brokerage
fee.

(C) a decreasing function of rate of
interest, and anincreasing function
of nominal GDP and brokerage
fee.

(D) a decreasing function of bond
supply and rate of interest, but an
increasing function of brokerage
fee.

18. In an open economy, a shift in expenditure
towards more of imports will lead to

(A) anincreasein overall expenditure
and a worsening of balance of
payments.

(B) a decrease in savings and an
improvement in income.

(C) adecreaseinincome and adecline
in balance of payments.

(D) adecrease in overall expenditure
but with an improvement in
income.

16. 1T @M Jand T ARG oAM=
TR FW 2O 77, T4

(A) w1eefq sifant @<k e am Im
SRR |

(B) =<7 wifeml @k f&fvcs arw oW
SRR |

(C) = BifEw 7 IR @R
ol TSP |

(D) = BifEn I SRR @R
ool I AT |

17. Baumol-43 (el {¥e] (STt Srely o< Sifzmt
(transaction demand for money ) ©§ W@, SRk
bifRnl g —

(A) ICTI @6, vl 7 @R SJoR
T G THRYA SATF |

(B) @Y &Ff*e GDP @3k d QT
et fog wefe g SRR
AT |

(C) IF T A TeorwE @R
@I &5 GDP € wienfa g
TR S |

(D) A0S @SN € FE A T
wos e vl e SRRl
CAFF |

18. =6 e wdifers, wfimen whmifa
i T Sifqada =@

(A) e e e = @R G-
O3 SRPICN ST 27 |

(B) 1T TP € SIFH Tayfe 2 |

(C) YIRS 3PS (ST~ A GRS
S 23 |

(D) AT 53 g e W@ Tafe
R0




19. The crucial assumption while arriving at
Solow’s growth accounting formula being:

(A) firms use labour and capital up to
the points where their marginal
products are equal to the real wage
andreal rental prices respectively.

(B) firms follow increasing returns to
scale.

(C) no improvements in technology.

(D) marginal productivity of labouris
Zero.

20. To remain at an interest rate target, with
downward sloping IS schedule

(A) the LM curve is upward rising.

(B) the LM curve is downward
sloping.

(C) the LM curve is backward
bending.

(D) the LM curve is horizontal.

21. Policy irrelevance proposition in new
classical rational expectations theory suggests that

(A) unless government policies are
completely random, they will be
anticipated by the economic
agents and render such policies
irrelevant.

(B) economicagents will be correctly
predicting government policies
and render them irrelevant.

(C) government policies can always
be predicted and hence they are
irrelevant.

(D) instability of the macroeconomic
system can only render
government policies irrelevant.

07

19. Solow-97 3@ &1 7082 Ty <szrgsjef Sregatley
247 8

(A) firmafe] & G JETH G FCH
G2 7 #1T% @I Sive Afes
Al el AT dFe Ty
TR G G JCT A |

(B) firmafet increasing returns toscale
P A |

(C) 2R&T (I Tafs 27 =11 |

(D) IR 2AIfEF ToAMeTAeTO! %[ |

20. 59T 1S @@l ToAfFfers, I AES
R RIS (91
(A) LM I@F2 TERE SR 23 |
(B) LM @4l Fwaidl 2d |
(C) LM IR H+6Ialis 203 |
(D) LM I@@4l SeiF 2@ |

21. New Classical Rational Expectations
TG i MRSl 2B o[ @1 @

(A) Fowd I ok FjfelE
random, &% Fol Sl
agent-(73 Bl 2ieyife 207 938 92
Grely Afeslens wamfe F@
WA

(B) SfeF agent-AI AT AT
BICERS SRV RUE S (o
AT I W |

(C) TIifd Tfoefrs = siamat
T @@ oNE, @R O @I
A |

(D) widtafes I wEfoM el
Taifa Mol wyiaozmEe
(I 9N AN |
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22. In Friedman’s theory, with given money
wages, the aggregate supply curve is upward
sloping on account of

(A) workers in the labour market

correctly predict the changein the
average price level
instantaneously.

(B) workers in the labour market fail
topredictthe changeinthe average
price level even with a lag.
workers in the labour market
predict the change in the average
price level and adjust labour
supply accordingly.
workers in the labour market
cannot predict a change in the
average price level immediately,
but might take some time to do so.

©

D)

23. Unanticipated inflation is harmful
to

(A) retirees whose retirement income is
indexed

(B) debtors
(C) creditors

(D) economic growth but has no effect
upon individual members of the
economy

24. If the demand for money is interest-
inelastic and perfectly stable, then by
hitting the money supply target, the
central bank
(A) fixes the vertical LM schedule and
income at that level.
(B) fixes the interest rate and makes
income flexible.
(C) makes the LM schedule to depend on
varying income.
(D) makes the LM schedule to slope
downwards.

X-10

22. Friedman-<3 (g, SNfe< Ngfs (et A0,

NS TAIZ AP TR 27 Pl

(A) #REE i TR e
MG SARRSEa 2 e wele
o |

(B) ESRIGHE FR4! TG WIS ATIS =
SRRE@A Face ¢ =, 9 &
SRR LI |

(C) ¥waiTed «fNFAl T wewd
AR oM (@ @R @R
S A7 & R A |

(D) SIHIFSE FIA ARG T
Wi PSR Ao fucs A =,
R O FACS YO W NN
A |

23. Teifire J@fs o

(A) SRAY NRI Fq AW
ST S Ao

(B) 2o CFa

(C) Amroind g

(D) SLtfoF THAET Fea g
WL G AR S2I (I
o =2

24, =7 vifEwt A sw-wiiRfegos qa o)l

BfoMe 27, oz weq @siiers = A 0,

&L GF
(A) TFg LM @41 93 (12 B3 =12 23
I
(B) 073 217 23 I 93 S w117
I
(C) LM @S SATaSaTaiiet S o
g =17 |

(D) LM @ G sy 563 |
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25. Ricardian equivalence implies that

(A) thechoicebetween levying lump-sum
taxes and issuing government bond to
finance government expenditure does
not affect the consumption of any
household nor does it affect capital
formation.

(B) thechoicebetween levying lump-sum
taxes and issuing government bond to
finance government expenditure does
affect the household consumption and
capital formation.

(C) the household chooses between
consumption and investment.

(D) the central bank steps into financing
government expenditure.

26. Chow-test using dummy variable does not
tell us

(A) that the two regressions are different.

(B) there is significant structural break in
the data.

(C) the source of difference between the
two regressions.

(D) the estimates of the two regression
functions are statistically different.

27. If one of the explanatory variables in our
regression model is the lagged value of the
dependent variable; then the model is known as

(A) Dynamic model

(B) Auto regressive model
(C) First-difference form
(D) Best fit model

o

25. fFIfEs el @RE @

(A) TR TR ISR Ty G5
T 4T T @R IR TS T
A WM =W (P ARG
(SIS Felfe S o A P

a5 Zelfe B = |

(B) I E SRR Tl G
B S T2 GR AT TS 2
TR T “igw AfFFIEE 296 93
A NS SIS FH |

(C) #ifsa" 435 @ [ sy
@ T |

(D) FET WFE AIFE TIERT GG
St (7 |

26. (¥ Chow-test dummy variable IS (S,
©l I LT T A
(A) ¥ regression 725 23 |
(B) Fif*e2-(o BN structural
break ¥z |
(C) W regression-43 2N T |
(D) uf6 regression function-93
ASESD] (estimate)
ARPRATOSI 725 |

27. Regression model-93 &3 IIIFE 5o
I AeRF (dependent) HT(FF lagged value 2,
OZE model®
(A) B&TIE (Dynamic) model
(B) Auto regressive model
(C) First-difference form
(D) Best fit model
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28. The sum of pairs of values in the X, Y series is
equal for all the observations. In this case the value of
the correlation coefficient between X and
Yis
(A) Zero
(B) 05
O 1
D) -1

29. Suppose the lowest value of a series of
observations is 4-4 and range is 19-6; a student
computed Mean as 24-4 and Median as 24-2.

Identify the correct statement from below—
(A) BothMeanand Median are wrong.
(B) Mean is right and Median is
wrong.
(C) Mean is wrong and Median is
right.
(D) Both Mean and Median are right.

30. Consider a group of 20 people. If everyone
shakes hands with everyone else, how many
handshakes take place?

(A) 400
(B) 40
(C) 380
(D) 190

31. Abowlcontains 5 chips. 3 chips are
marked % 1 and 2 chips are marked ¥ 4.
A player draws 2 chips at random and is
paid the sum of the values of the chips. The
player’s expected gain in X is
(A) less than 2
B) 3
© 4
(D) greater than 4

28. X, Y AfGCe A observation-93 &y 2fefo
CEOIT (9P AN | CTERE X R Y-49F 729=
(correlation coefficient) &1

(A) *[0
B) 05
© 1

(D) -1

29. € G A2 (Observation ) S JeTos
I 267 4-4 @R 271K (Range) 251 19-6 | 456+ 219
STGNe foief T 24-4 @3 T4yl e 6031 242 (e |

T (A AT Siel Hize sE—
(A) ST @R T T GeT
(B) TGN {3 @R N4l e
(C) TG G&1 G} 4y s
(D) ST @I T4l Tewz

30. 3T G @I wE IW AT
AT A S T, O (6 T
T SRS F(A ?

(A) 400

(B) 40

(C) 380

(D) 190

31. @6 #ieg 5T =G Peltes Frel Sz |
Toafba oI 1 Bl @R 2163 21 4 Bi=el @14l =Mtz |
e (AT P89l (at random) Pfﬁ%
9IS G (O ISl G2 763 ST (@1 e

(52T 2rie 91 2T | O 2ife oS 25
(A) 2 BiIR 9
(B) 3Gl
(C) 47TI=l
(D) 4TI @
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32. The cumulative distribution function F(x)
of arandom variable X has a slope of 1 for x in the
interval [0, 1]. Which of the following
most accurately defines the probability

density function of X?

(A) Itis constant in the interval [0, 1]
(B) Itisincreasingintheinterval [0, 1]
(C) Itisdecreasingintheinterval [0, 1]

(D) Itfirstincreases then decreases in
the interval [0, 1]

33. Match the following:

Model Descriptive title

(a) Y. =B +B, (%( j +u, (i) Logarithmic

l reciprocal

(i1) Double
logarithmic

(b) Y, =B, +B,X, +u,

(¢) InY =InB +B,InX, +u, (iii) Reciprocal

(d) Y, =B, -B, (%( ) +u, (iv) Semilogarithmic
Codes:
(@ () () (d)
(A) (1) (v) (i) (i)
B) (i) @Gv) (i) (1)
©) Gv) (i) @) (i)
D) () G (@) (1v)

32. Random bsTs X-49 cumulative distribution
TS F(x)-93 & [0, 1] TN x-9A BT 27 1 |
CIeGe FeRiesler @t X-93 AGF probability
density function (¥ Fefeyl A2

(A) [0, 1] FR4-9 @b 73 |

(B) [0, 1] Fa4-« @ I+ |

(C) [0, 1] Fa4T-9 @f ZPT

(D) @fS [0, 1] AL -9 AT IETT
@3] ST ZPTI |

33, SEASHIE ML FF ¢ (FREF SPANR)

Model Descriptive title
(a) ¥ =B +B, (%(l j +u; (i) Logarithmic
reciprocal
(b) Y, =B, +B, X, +u, (i1) Double
logarithmic

(¢) Y, =InB +B,InX, +u, (iii) Reciprocal

(d) Y, =B, -B, (%( j +u, (iv) Semilogarithmic

TRCPOTYR ¢

(@ b (© (@
A @  av) i) (D)
B) i) Gv) G @O
©) Gv) () (@@ (@)
D) @ G G @Gv)

[ Please Turn Over ]
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34. Given below are four model specifications.
Which among these models can be estimated using
ordinary least squares? Exp stands for
exponential and [n stands for natural
logarithm.

(i) ¥ =Py +BX* +u,
(i) ¥, =B, +Bn(X,)+u,

(i) Y =B, +pexpX; +u,

(iv) ¥ =B, +BX; +u,
Codes:
(A) (i) only
(B) (i1) and (iii) only

(©) (), (i) and (iv) only
(D) (i), (i1), (iii) and (iv)

35. Suppose X is a random variable. C is a
constant and V refers to variance. Which of the
following statements is not correct?

(A) V(C)=0

(B) V(X + ) =V(X)

O VX+O)=V(X)+ V(O
(D) V(CX) = C*V(X)

36. The model that is most frequently applied
in empirical studies when the regressand is of the
count type is

(A) Ordered probit model
(B) Multinomial logit model
(C) Poisson regression model
(D) Linear probability model

X-14

34. e R TCCER Mol WA B | 97 M
@A (@l ordinary least squares (OLS)
JRRIT T estimate I T ? exp 251 exponential
G<R [n 2e1 natural logarithm.

(i) ¥ =By +B X" +u

(i) ¥, =B, +PBn(X,)+y,

1

1

(iii) Y, =B, +Bexp X, +u,
(v) ¥ =By +BX; +u,
TIFCHIZ ¢
(A) (1) Bgg
(B) (i) @R (iii) BLIG
(C) (), (i1) @R (iv) ega
D) (), (i), (iii) @R (iv)

35. 4@ X @3 random variable, C
G5 FIF @IV (el (variance) |
7 @0 AT 772
(A) V(C)=0

(B) V(X + ) =V(X)

©) VX+O)=V(X)+ V(O)

(D) V(CX) = C*V(X)

36. 2% (empirical studies ), T s
(regressand) SI9=ICAI5] 23, 2 ( CTAH
(A) Ordered probit model
(B) Multinomial logit model
(C) Poisson regression model
(D) Linear probability model
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37. According to Granger and Newbold, a good
rule of thumb to suspect that the estimated
regression is spurious is given by

(A) high R? with low z-values (R*> > 7)
(B) high #-values with low Durbin-

Watson d value (¢ > d)
(C) high R?and low Durbin-Watson d

value (R*>> d)

(D) high R?and low F value (R>> F)

38. Choose the correct answer:
Suppose A is a 2 x 2 matrix, then if

(A) determinant A| # 0, the matrix is
non singular and there is no linear
dependence.

(B) determinant | A| # 0, the matrix is
singular and there is linear
dependence.

(C) determinant A| # 0, the matrix is
non singular and its rank < 2.
(D) determinant A| # 0, the matrix is

non singular and there is linear
dependence.

39. The slope of adouble log regression
model stands for
(A) the relative change in Y for an
absolute change in X.
(B) the absolute change in Y for a
percentage change in X.
(C) the percentage change in Y for a
given percentage change in X.
(D) by how many units Y change for a
unit change in X.

37. Granger €< Newbold-45 ©g Wﬁﬁ «F0
estimated regression (I &ls1 (spurious) ZCS N, (7
A Beite G 2o

(A) R*43 W @ @3] r-values S
9 (R* > 1)

(B) 93 39 &M @3R Durbin-Watson
d-493 9 9 (1 > d)

(C) R*-99 W9 (I 932 Durbin-
Watson d-43 ST« & (R > d)

(D) R*43 WIv @M @3 F-43 I 3%
(R*>>F)

38. s Teafs fofze T ¢
4 A @30 2 x 2 matrix, OZE M

(A) |4#0%8, 947 matrix & non
singular (9 @GR ETRICT (PICT
linear dependence FCS 1 |

(B) |A4|# 0%, ©4 matrix & singular
2(J YR (T14I¢e linear dependence
PP |

(C) |4]#0%&, ¥ matrix & non
singular 2¢9 ¥R rank <2 2(J |

(D) |4/#0 2, 9% matrix 5 non
singular 209 @R (TGS linear
dependence RS |

39. Doublelogregression model-&< bie, (IR
(A) X-93 57 2SR & V-9

eAfES AAfe |

(B) X-97 *ress4l AfS(=d ey V-4
B IS |

(C) X-43 8 =rera AfSEa Ty
V-4 *ro #AfHae |

(D) X-93 &3 T3 2T &y Y-
43 T GG = |

[ Please Turn Over ]
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40. Examine the following diagram:

The Gini co-efficient is
(A) BI(B+A)

(B) A/(A + B)

(C) A/B

(D) (A+B)/A

41. Consider the function f(x) = x* defined over
the interval [0, 1]. This function is
maximized

1
A) at x=—
(A) 5

(B) at the value of x for which (the
derivative) f'(x) = 0

(C) atx=1

(D) at the point where the derivative
£'(x) is maximized

42. Choose the correct answer:
Ify=lin 2x°, then

a D3
dx x
dy 5
®) ZL-2
dx x*
© P__3
dx X
dy 1
D) —=—
dx x°

40. o Baf’ A e ¢

[RIEEECES]
(A) BI(B +A)
(B) A/(A + B)
(C) A/B
(D) (A + B)/A

41. f(x) = x> SCAFIO [0, 1] TN FRIRS

102 SoFFR0d W A 2

(A) T4 x=%

(B) x-43 (T2 = &+h T4 f'(x) = 0
(C) T x=1

(D) G2 f7re T4 f'(x)

42. 0 Tealt Wl e ¢
M y = In 2x°, O
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43. Given
(1) ox+By,a+p=1
(1) ox+ By, a+p>1
(i) 1-o)x+1-P)y,0<a<1
0<B<l
iv) ox+ (1 - )
Which of the above is example of convex
combination of x and y?
Codes:
(A) Only (ii)
(B) Both (i) and (iv)
(©) (), (iii) and (iv)
(D) Only (iv)

44. In CES production function
_H
O=A[al®+(1-a)K ] 0

Where Q is output and L and K are labour
and capital, select the correct option from the
codes given below:

(a) Efficiency parameter 1) p
(b) Distribution parameter @11) Q
(c) Substitution parameter (i) o
(d) Returns to scale parameter (iv) A

Codes:
(@ () © (@
(A) (v) @Gi) G (1)
(B) (i) (i) (@v) (@)
© @) (@) @G1) @)
D) () @) (v) (ii)

43. 4
(1) ox+By,a+p=1
(1) ox+ By, a+p>1
(i) (1—a)x+(1-Py,0<a<1
0<B<1
1v) ox+ (1 —-a)
a3 T @A (2f), x @R y-97 Tew
ENECICERCIGEE DR
TCPOTI ¢
(A) B9 (i)
B) (1) @R (iv)
(©) (1), (iii) @3- (iv)
(D) B9 (iv)

44. W AHF CES TeoAV S
_H
O=A[al®+(1-a)K ] 0 o

O T 2 @R L8 K TG & 7R

IET 23, OIR(E WHFERS (Fewk ragm
3 AT Tedft Bize v |
(a) Wl HAfIE i) p
(Efficiency parameter)
(b) oz sifaam (i) Q
(Distribution parameter)
(c) “fead oifsw=m (iii) o

(Substitution parameter)
(d) wTeTEie 2fene “fF= (iv) A
(Returns to scale parameter)

(T2

(@ () () (@
(A) (v) i) @) (1)
B) (i) (i) @Gv) @
© @ (@) () (Gv)
D) ® @) (v) (i)

[ Please Turn Over ]
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45. If AR =15, MR =5, then price elasticity of
demand is equal to
(A) 23
B) 15
(C) 175
D) 1

46. Choose the correct answer:

One of the criticisms associated with the
Neo-Marxist theory developed by Baran is that his
thesis ignores the probability that power is often

(A) transferred from one elite to
another when revolution occurs.

(B) based on an alliance between
landowners and peasants.

(C) based on an alliance between
advantaged classes and the
politically dispossessed masses.

(D) derived from domestic opponents
of nationalism.

47. According to Simon Kuznets, the
relationship between per capita income and
inequality in the distribution of income is

(A) astrictly increasing relationship.
(B) a strictly decreasing relationship.
(C) no relationship.

(D) first increasing and then decreasing
relationship.

45. I AR = 15, MR = 5 =, S Hifid 0
Tfogl7el 23 ¢
(A) 23
(B) 1'5
(©) 175
D) 1

46. < Tea we ¢
Baran-43 S79ie (Neo-Marxist) ©Cgd
OB AN 27, @b o) 7irF fferiie «sfo
AGIIAIE S FE—
(A) REEa W@ w9l @F SfeEited
(AT I ST o FIR TSI
27|
(B) GRMIR G3% A NI (SIGH
Tol weld fofe foq 5 |
(C) =Wt Afqgiceta  cufd e
AefeFeid FF wemiges
(GO |
(D) TSI (T Rl T (2T
el 7 |

47. AT FEHER O AR WA W
G3R SIRRHE (FRN-GF T H=ASF 257
(A) oI THIA T/ |
(B) el Fmifeal 7o |
(C) I T=F (=13 |

(D) =t TwaAl @R #m fifey
T |
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48. The O-ring theory developed by Michael
Kremer places emphasis on
(A) education of the labour force.
(B) skill mixing.
(C) purchase of machinery and
equipment by firm.
(D) skill complementarities.

49. Assertion (S) : The multidimensional
poverty index of UNDP
considers the intensity of
an individual’s poverty,
going beyond the overall
count of poor people.

Reason (R) : Including intensity helps
identify the poorest of the
poor.

Identify the correct statement from

below:

Codes:

(A) (S)is correct, but (R) is wrong.
(B) (S) is wrong, but (R) is correct.
(C) Both (S) and (R) are correct.
(D) Both (S) and (R) are wrong.

50. Under employment is a situation
where
(A) people who are willing to work
are unable to find jobs.
(B) many people in the labour force
have 2 or more jobs.
(C) people are working full time yet
have a low marginal product.
(D) people work in a free labour
market with a very low wage.

48. WEFE FF-9F O-ring ©F ool Sl
P
(A) ¥ifes FrwE S |
(B) wwolx fid-a7 o7 |
(C) FICHTZANC GRATAIGNF @I TAT |
(D) WO FAfK7FFeld TolF |

49. Assertion ()8 WR® R (NG 72 SfoT™
3@ UNDP-93 Jzwifas
MRAPT Qe RS
7ifRcara 2siipe! Rease 3 |
Reason (R) ¢ W@ =9pel o€ fe
Wi d N Tiren s Bie
FACS AR FA |
vz Sfeafs (2w Alis Sie biere e ¢
TIPCIHZ 2
(A) (S) &1 795, 5% (R) o1 wel |
(B) (S) Z1 ¢e1, e (R) 21 A0 |
(C) (S) & (R) 1 o |
(D) (S) @ (R) 7512 gal |

50. &S (Under employment) 25 3w €0
SERECRICH

(A) FRGH TR e FA00 2583, Ol
ey e AR 1 |

(B) & AMGICH S A 761 A Ol
Q] et |

(C) TRGH SPTET G FIS IR
e S 2Alfes Tesiive 4 |

(D) SiRed e & qrenied Tl R I

¥ NGRS |

[ Please Turn Over ]
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51. In a non-Harris-Todaro world if it is
observed that poverty is highly correlated with
unemployment, then which choice of
technique is likely to reduce poverty?
(A) Labour saving technique
(B) Capital intensive technique
(C) Labour intensive technique
(D) Profit maximizing technique

52. According to the asset market approach to
exchange rate determination, a depreciation in
expected exchange rate will lead to

(A) an appreciation in the spot rate.

(B) adepreciationinthe spotexchange
rate.

(C) anincrease in the foreign interest
rate to maintain the interest parity
condition.

(D) a decrease in domestic money
supply and hence, a higher
domestic interest rate.

53. A voluntary export restraint (VER)
is identical to an import quota in effect,
except that

(A) the quotarentis effectively ceded
to the foreign exporters.

(B) the government revenue is ceded
to the domestic exporters.

(C) the quota rent is not ceded to the
foreign exporters.

(D) the government revenue is not
ceded to the domestic exporters.

51. @3 Harris-Todaro 7% G5« (i Tolce I
ol AR, (@ Wi (e 0t Y72 ARG 4E
O, (I G (e vifHwy 37 FCo A 2

(A) S S Fet
(B) T &allp (FI=iet
(C) & 29I (F=ie
(D) I AR et

52. ffasa g e s are oy, Zenife
(A) BeTfs RIER I6T Jia A |
(B) eIl G & 3 A |
(C) "W Aol *6F el e @
o RS i |
(D) TR BIFIR (SN g1 € (AR ] 2R
I T |

53. Afes 9IS (VER) € Sismif sifsieisre

WIS FFe ey, Ufees 2o

(A) AfFsidere  AEa [{EEE
ARFTIE TS 341 2|

(B) TR WG (P AR
TS 31 27 |

(C) sfaidare Al (Is
ARTFTFE TS T 27 1 |

(D) TR el @ IS
TS 41 27 |
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54. The law of one price states that

(A) if transportation costs are
relatively small, the price of an
internationally traded commodity
must be the same in all locations.

(B) if transportations costs are
relatively small, the price of an
internationally traded commodity
must be different in all locations.

(C) if transportations costs are
relatively larger, the price of an
internationally traded commodity
must be different in all locations.

(D) if transportation costs are the
same, the price of an
internationally traded commodity
must be different in all locations.

55. Game theory applies to which sphere?
(A) New Trade theory
(B) Mercantilism
(C) Absolute cost advantage theory
(D) Factor Price equalisation theorem

56. With all other things remaining
equal, trade diversion, through redirection of a
country’s foreign trade as aresult of discriminating
regional trading agreement, leads to

(A) enhanced welfare gains from trade.
(B) reduction in welfare gains from trade.
(C) welfare gains remaining unchanged.
(D) no trade.

54. 9F ENA ke I

(A) W +AfR2s 46 Jaow 2, OZE
@ @I feregars Aoy s
SR A FA |

(B) M AAfaes Hb PeTow 2, Ol
@ @ feregars Aoy
SN ST RS |

(C) MW sifzazs 47 AT (@ 27,
SR @ (@I AR fTeere sy
ST ORI SPTRE 2(A |

(D) AW AR 4=H T 2, O
@ @ AfReregars Ay
S/ ST B(A |

55. ol oy (@Fha T4F aye T ?
(A) Tgw Alforey Sifs
(B) SICFOiefrem
(C) 53w IR el og
(D) CoAMITIED Aw99 ©€ (Factor

Price equalisation theorem)

56. S A4 &l @2 AR, Fiferes [y,
RS ST lfeley g [l (i Aifelcens
CRBSERISIIC

(A) ey (A 3fEe el a7re 6 |

(B) dlfefes (AF Fetiel e 21 A |

(C) 3ifey (A Tl 7S Tsifgafes
e |

(D) &Il Afren zce @3 =1 |

[ Please Turn Over ]
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57. Which of the following is used to depict the 57. A @G G Iiad A SR
long run behaviour of population growth? Ab® T

(A) Normal Curve (A) o1 &4 (Curve)

(B) Logistic Curve (B) #f&5sF @4l (Curve)

(C) AR 4l (Curve)
(D) @&ig® (Ogive)

(C) Exponential curve
(D) Ogive

58. Open regionalism means 58. (A& STl

(A) member countries must

unanimously agree on the
accession of a new member to an
existing RTA

(B) some member countries can agree
while others can disagree on the
accession of a new member to an
existing RTA

(C) a potential member can join an
existing RTA even without the
consent of existing members
leaving no room  for
discrimination againsteconomies
outside the region

(D) a potential member can join an
existing RTA only when 51% of
the existing members give consent
to join.

(A) AT (ITeE Sz R
RTA-(® G35 «ge 07 (I9MIR
R FFTEeSIE e 200 [ |

(B) Tog 3wty (<] 3741® 20 ITC1 QT
SN R RTA-CS e el
TR (@I9MIGR RA fasre coirael
TS A |

(C) @3 TG ABER wLifen 2ifs
(AR (I G60  (&F0L GG
TR o Rt o rE e
2o g% e RTA-CS Gl
s #iE |

(D) O I 5o Kmysliel RTA-CS
S (@19l TACe A T4 =i
TS R *TOIH (omIta
TS (e |
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59. Whenrelatively asymmetric sized countries
engage in trade internationally among them, then
all the gains from trade accrue to

(A) the country that is large in
international trade.

(B) the country that is small in
international trade.

(C) the countries trade depending on

the comparative advantage.

(D) a third country.

60. Other things remaining equal, labour
movements between two countries will continue

(A) until the marginal product of
labour in the two countries diverge
to the maximum, but their real
wage rates converge.

(B) until the marginal product of
labour of the Home country
increase along with that in the
Foreign country, while their real
wage rates decline.

(C) until the marginal product of
labour in the two countries is the
same, but their real wage rates
diverge.

(D) until the marginal product of
labour in the two countries is the
same, and their real wage rates
converge.

59. T GERRERFSIE SPTEA (el witvrE
Ty I Fge A, wee i @ e
e

(A) G2 (e 28 (@ wiigsiifes Aifeisy

0T (= |
(B) (12 (el 2 (I WG e ey
(RITT (7] |

(C) o3 omiaferre 21 @ el
QEETE AR (comparative

advantage) © % e I3
3fEAficen e =@
(D) G2 (e 2 @ 41> o (e |

60. S fRn weifFRfee e, 12
WM S S SMiave S[ie AR
(A) T N Y3 MR AER Aifes
AT ETR 2Ny 7S =3, e
IR 4TS NG 2N GHq 2 |
(B) T 1l (MeeIF S I At
o7 R S Ak I AR, @
I OIME oFe AGRE T B
AT |
(C) To9 I 13 (M ®eE 2ifes
MQIERGIUECEEREAS (Eksod)
TGRE 2 GFfqe 27 |
(D) To T w3 M @R e
ST T G2 2T, IR O &S
TGRA 2 GFfqe 27 |
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61. In a given distribution X =800,0 =120, the
coefficient of variation is

(A) 920%
(B) 680%
(©) 15%
(D) 67%

62. Which of the following statements gives a
true picture of the effect of the central bank selling
securities in the market?

(A) The credit creation capacity of
commercial banks will fall.

(B) The credit creation capacity of
commercial banks will rise.

(C) The credit creation capacity of
commercial banks remains
unaffected.

(D) The credit creation capacity of
commercial banks moves in a
random manner.

63. When was LIC established?
(A) 1960
(B) 1956
(©) 1972
(D) 1982

64. What is meant by ‘Hot money’ often found
in the news?

(A) Thetermisused forfresh currency
notes issued by RBI.

(B) It is the fund which is thrown in
the market to create imbalance in
the stock market.

(C) It is the fund which flows in the
market to take advantage of high
interest rates.

(D) It refers to actual currency (bills
and coins) money immediately
available and paid at the time of
purchase.

61. T Are eI, X =800,0 = 120 | GICFCE
(evi® (coefficient of variation) &1
(A) 920%
(B) 680%
©) 15%
(D) 67%

62. IS (A AES security [TE
Fois AfoF 2Rl Fewa @ e ame
A2
(A) alfeifer<s eees el tofaa el
2 M |
(B) Sifeifenss yeomices el tofss el
i #Me |
(C) Sifeiferss yemces e tofss el
Sefafee A |
(D) feifers rFeas 39 Cofaa el
WG (randomly) (T |

63. LIC 3= 2fsfe zx?
(A) 1960
(B) 1956
(C) 1972
(D) 1982

64. 22 4JCF @) ‘Hot money’ e
G 2

(A) @2 term RBI B issue 2&
o FICE THCF TJIZ© 2 |

(B) <2 TISf A RTI T IBF DB
s w9z oofs a7 w0 |

(C) @2 Fel JAEa 2[ike 7 T
AR RIEA AR (SR G |

(D) A< A2EreTe) R & /K
T ABE 2we 9 (bills @R
coin) (& 0™ T |
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65. How many languages are there on the
language panel of Indian currency notes?

(A) 17
B) 11
©) 12
(D) 15

66. Whichisacceptableunder statutory liquidity
ratio (SLR)?
(A) Reliance shares
(B) L and T shares
(C) Treasury bills
(D) Equity shares

67. Formula for money multiplier is

(A) % (where R = cash reserve ratio)

(B) l (where r = rate of interest)
r

1
R-r
1
R+7r

©) R-1r>0)

D)

68. Under which system the central bank

is authorised by law to issue a fixed
amount of notes against the Govt. securities and
any excess is to be fully backed by gold/silver?

(A) Maximum fiduciary system
(B) Minimum reserve system
(C) Fixed fiduciary system

(D) Maximum and minimum
fiduciary system

65. SIACS currency note-43 I Fouf
Ol R ?
(A) 17
(B) 11
©) 12
(D) 15

66. Statutory liquidity ratio (SLR)-
O3 (R (PG QeI ?
(A) TeTE™ e

(B) L @R T (=019
(C) Genfa ke
(D) TP =

67. SLes (money multiplier)-43 g 26
(A) % (@ R =0 s @fane)

B) L (@ r = 507 =)
r
1
R—r
1
R+r

©) (AT R —1>0)

D)

68. (T system-9 (FEU AF FFE (Govt.)
securities-93 <@ra «Fh WWE «ifssid S oy

FACe ST A TP GR (| o AR
AT/l =T sjefarar s 2

(A) i< fiduciary system

(B) R fers system

© ﬁ?ﬂ@ fiduciary system

(D) FHifes @R 7w fiduciary system

[ Please Turn Over ]
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69. Which of the following statements is true
about Goods and Services Tax (GST)?

(A) GST subsumes erstwhile indirect
state taxes like VAT, octroi,
luxury tax, purchase tax only.

(B) GST subsumes erstwhile indirect
central taxes like customs duty,
central excise duty and service
tax only.

(C) GST subsumes all erstwhile
indirect state and central taxes as
mentioned above.

(D) There are two types of GST in
India.

70. Which of the following is not part of
Wiseman and Peacock Hypothesis?
(A) Concentration effect
(B) Displacement effect
(C) Inspection effect
(D) Taxation effect

71. Consider the following statements and
choose the correct answer:

(i) Genderbudgeting means gender analysis
of the budget.

(ii) Preparing a separate budget for women.

Codes:
(A) Only (i) is correct.
(B) Only (ii) is correct.
(C) Both (i) and (i1) are correct.
(D) Both (i) and (ii) are not correct.

72. The greater the elasticity of supply, the
greater is
(A) Incidence of tax on buyers
(B) Incidence of tax on sellers
(C) Impact of tax on sellers
(D) Impact of tax on buyers

69. T3y ¢ SAfFE@A 9 (GST) F=IF frferiie
@I Sfet Fow?

(A) G sjFoe Ay AT Ik,
@ YR 9 (VAT),
octroi, ReT14< 54, @3 9 GST-
T Y |

(B) w4 5[ (FEI AT T2,
@ 9, (@Fu AR o e
AREA 9 GST-7 TSYE |

(C) ToAfIS& a1 (FIT @ AT SACIF
T GST-1 SeE& |

(D) SIS W4 GST Iz |

70. FEfreelk® Wy @@ Wiseman and
Peacock Hypothesis-4< W@\i_@ T2
(A) @FErIA A
(B) Zpife 2o
(C) i 2erm
(D) <Term o

71. Tpd Ao IR [ AP
G (wfeT) 5T e ¢
(i) Gender budgeting o1¢f 25 JEHA
forst faerel |
(ii) SRR Gy 72 ACEH ol T |
TFIPCHZ 2
(A) ©gg (i) AT
(B) &&Iq (i) 7|
(©) (i) 9= (ii) Tong Afds |
(D) (i) @& (ii) @I AdF 77|

72. (@iole FRfegivmel T (@f 23, Ned (@
T© @ 2@
(A) (FOIF T21F T
(B) ftaeid To7 T2t
(C) (@SIF Toq T
(D) fcFea Toa arare
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73. Identify correctly the taxes in State List
(List II) of the Constitution of India:
(i) Taxes on mineral rights.
(i1) Taxes on luxuries.
(iii) Corporate taxes.
(iv) Excise duties on tobacco.
Which of the statement(s) given above is/
are correct?
(A) (1) and (iii)
(B) (i) and (i1)
(C) (1), (iii) and (iv)
(D) (ii), (iii) and (iv)

74. If the vicious circle of poverty hypothesis
were true at all levels of per capita income, then

(A) all economies would develop at
the same rate.

(B) no nation could ever achieve
economic development.

(C) nonation would ever fail to reach
the highest level of economic
development.

(D) poverty would not be self
perpetuating.

75. The Harrod-Domar model states that the
growth rate of national income is

(A) positively related to savings ratio
and capital-output ratio.

(B) positively related to savings ratio
and negatively related to capital-
output ratio.

(C) inversely related to savings ratio
and capital-output ratio.

(D) positively related to capital-output
ratio and negatively related to
savings ratio.

76. Inthe IPAT expression propounded
by Prof. Ehrlich

(A) T = Impact, P = Population,
A = Asset, T = Technology

(B) I = Investment, P = Price,
A = Asset, T = Technology

(C) I = Impact, P = Population,
A = Affluence, T = Technology

(D) I = Impact, P = Population,
A = Asset, T = Trade

73. SO AR AT (List [T STeTE
A% b e aw ¢
(i) feer SIfEFias Toig 54|
(ii) eTPTEETE a4 |
(iii) FeAIcas 41
(iv) SIIFETe TIF SoAF SRl @ |
Tl (@ qe( ) Jowe
(A) (1) @R (111)
(B) (1) @R (i1)
(©) (), (111) @R (iv)
(D) (1), (111) @R (iv)

74. M oig Ay e Aol vz wkma
(A) 7R SLfeT T @92 @ A
(B) @I Tifoss wetaifess Saarel &¢d ol |
(C) @I Tifes Tdtafes SxaeTa A
WA (ATgre L 2@ 11|
(D) wifsw 77 2@ |

75. Harrod-Domar (el SERIS SR SIE@
GEIRERG]

(A) A AT G IEF-BLA
RIS HCH LT |

(B) YR SEAIOT A NG %
-G AT A |

(C) 7% S® @ YETHF-C 7AW
SAICed A REAToTA AoAE
[ |

(D) ETHH-BoAMe SIS QI LR
SEACST K LS |

76. Prof. Ehrlich 2®i<® [PAT (®©
(A) T = Impact, P = Population,
A = Asset, T = Technology

(B) I = Investment, P = Price,
A = Asset, T = Technology

(C) I = Impact, P = Population,
A = Affluence, T = Technology

(D) I = Impact, P = Population,
A = Asset, T = Trade

[ Please Turn Over ]
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77. The most simple and popular method of
measuring economic development is to calculate
the trend of gross national product (GNP)
(A) at current prices.
(B) at constant prices.

(C) ataverage of current and constant
prices.

(D) at value added.

78. Match items in List-I with the items in
List-II:
List-1
(a) Law of increasing
state activity
(b) Displacement effect
(c) Federal finance

List-11
(i) R.N. Bhargava

(i) Adolph Wagner
(ii1) Wiseman and

Peacock
(d) Functional (iv) A.P. Lerner
finance
Codes:

(@ b (© (@
A) @@ G G @Gv)
B) (i) i) G Gv)
©) @) Gv) () (1)
D) Gv) @ () (0D

79. Which of the following is not related to the
Travel Cost method?

(A) Zonal approach

(B) Utility approach

(C) Random utility approach
(D) Individual approach

80. If the distribution of income in
country Eis (1, 2, 2, 3, 5) and in country
Fitis (2, 1, 2, 3, 5) and the poverty line
inboth of the countries is 2-5 by headcount measure,
then which country has more poverty?
(A) E
(B) F
(C) Poverty is the same in E and F.
(D) Cannot be said from the given
information.

77. St Tan sifaeist Fa9 9F 0 A7 @)
325 ABfeTe Simfe Tz (G ToR SeAMER 23!
el =1

(A) current price SIS |
(B) constant price SIS |
(C) current €< constant price-4 G

S |
(D) value added W@[I

78. O ¢ CfFEl-aa  Sgsfe
SEEIYRIE GCF SAER A WG
e @e SRSt 7w Tealt vam e ¢

olfersp-1 oIferpI-I1

(a) GRS A (i) R.N. Bhargava
FrfeIof
(b) TEpf® e (ii) Adolph Wagner
(c) CFCIAIE Tz (i11) Wiseman and
Peacock
(d) Il TR (iv) A.P.Lerner
TCPOTIZ ¢

(@ (b) (¢) (d)
(A) 1) @G (3Gi) (@1v)
B) G @) G 3Gv)
(© Gi) @Gv) G (@)
(D) Gv) @) i) (i)
79. sl @MG Travel Cost @elifera et
SeAfFe 7772

(A) Zonal approach

(B) Utility approach

(C) Random utility approach

(D) Individual approach

80. ™ E-3=1A90H (1,2,2,3,5) 93 (¥ -F-43
SREGH (2, 1,2, 3, 5) 206, QU /w19 2fafe
RIS 9o (reefE wifR@El 2-5 | Grwea @i e
T Seweel e 2

(A) E

(B) F

(C) wifzwy 76 (Cei2 711 |

(D) TGS w2y (A J&l A8 77 |
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81. If a country experiences rapid rise in per
capita income, due to extraction of new oil
resources, then it experiences
(A) growth but not necessarily

development.
(B) development but not necessarily
growth.

(C) both growth and development
together.

(D) only development.

82. Which of the following is not included in
Ravenstain’s laws of migration?
(A) Natives of town are less migratory
than those from urban areas.

(B) Females are more migratory than
males.

(C) Most migrants move for short
distance.

(D) Most migrants are adults.

83. Total economic value of an environmental
asset is composed of

(A) Actual use value + Intrinsic value
(B) Actual use value + Option value +
Existence value

(C) Actual use value + Existence value
(D) Actual use value + Option value

84. Choose the correct alternative from
below:
No.of female births
No.of total births
No.of female births
No.of total births
No.of female births
No.of malebirths
(D) GRR =TFR - NRR

(A) GRR =TFR x

(B) GRR =NRR x

(C) GRR =TFR x

81. T et (0et 5w fHITR T (I
oot T we Mferg ofe =7 3fa #Aw, SR, ¢
PRSI |

(A) 23 g 7w Taaw =2 |
(B) Tz frg o1t e 73 |
(C) =3fa @3 T iz |
(D) w4 TF7 |

82. WEfeiie @b Ravenstain-93 Si3gaxie
TG TWGE 7T?
(A) *EFieEd IR F5AieET

JIPAITE Qe 1 AT et |
(B) WfZETal AFAtE QA e
AT |
(C) wIfa=riee ST T TR0e &)
I AAfS I |

(D) wIfapies SIfSAAT 2T |

83. IfIore Mot (I SIS Jese @10
(SIRIE]

(A) #Fs TS T + wrsfize

SETSI
(B) aFe© IRTF JeTAN + [Khw
O + SIREg IE

(C) oF° JIREF Fhe + Sieg

SET

(D) oFe JIREF FNE + {5

SETI

84. fElRowl sy A et hize v ¢

No.of female births

A) GRR =TFR
(A) * No.of total births

No.of female births
No.of total births

(B) GRR =NRR x
No.of female births
No.of malebirths
(D) GRR =TFR - NRR

[ Please Turn Over ]

(C) GRR =TFR x
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85. Internal rate of return (IRR) is defined as

(A) the discount rate at which current
value of cash flow is zero.

(B) net present value of a project is
Zero.

(C) present value of a project is zero.

(D) the difference between social
discountrate and private discount
rate.

86. Common property resources have the
features of

(A) non-excludability and non-rivalry.
(B) excludability and rivalry.

(C) excludability and non-rivalry.

(D) non-excludability and rivalry.

87. Which among the following are
reasons of market failure?

(1) Incomplete property right
(i) Externality
(iii) Perfect competition
(iv) Pareto optimality
Codes:
(A) (i) and (ii)
(B) (i), (ii) and (iii)
(©) () only
(D) (ii) only

88. The year of demographic divide in India is
(A) 1920
(B) 1921
(C) 1922
(D) 1911

89. Ifthesocial costof extracting costis greater
than private cost, then

(A) negative externality exists.

(B) positive externality exists.

(C) more coal should be extracted.

(D) price would be less than private cost.

85. wireredel s 2 (IRR)-97 kel &1
(A) @ 3T 2ET G oW AR TS
ST X =W |
(B) @36 2Fad (16 I9uIe sErse (Net
present value) T4« *[«[ |

(C) @3> 2FCER TSI e T2 %[+ |
(D) AW fTAFICT T @R Ifeare
TERAIS S 2ICa e 4eem |

86. G Fif® A=W (Common
Property Resources)-43 (I@rafey 251

(A) -GS €3 T-2AferFel |
(B) RIS @ Aferiae! |

(C) IGGIsTS! €3 T-2Aforfael |
(D) S-IGITS! @R Aferige! |

87. Fwfrieowl® Sy @Eb (@Fwel) e
JIZR FLOF FIFA 20O A2
(i) ifen sfeEa Pl
(i) e deRPTE
(iii) et efswiforst
(iv) I ey
TIPEHIZ 8
(A) (i) 9. (i)
(B) (i), (ii) € (iii)
(C) B9 (i)
(D) sga (ii)
88. SO GRS e I=ab z5
(A) 1920
(B) 1921
(C) 1922
(D) 1911

89. M @ S AMTGs <=5, Ve
LAGA TR @ 28 94
(A) A AR Ao A |
(B) &N qifys 2elq e |
(C) SI=e ifEs e fersiiay il Tbe |
(D) WIS, (&S AT QeI T 2(A |
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90. A regulator would like to limit pollution.
There is one firm in the market. The total costs of
pollution abatement are given by
C=20Q + Q?
where Q is the level of abatement.

Total benefits from pollution abatement
are given by

B = 100Q - Q?
The optimal level of abatement is
(A) 20
(B) 40
(C) 60
(D) 80

91. Theleast-cost method of abating greenhouse
gases internationally is through

(A) limiting emissions to 1990 levels.

(B) stabilising average temperatures
of 1990 levels.

(C) tradable emission permits.

(D) dataarelackingtochoose between
these three alternatives.

92. Which of the following is not true for MSME
Act, 2006 amended version, 20207?

(A) The definition of micro
manufacturing and service units
was increased to ¥ 1 crore of
investment and ¥ 5 crore of
turnover.

(B) The limit of small unit was
increased to ¥ 10 crore of
investment and ¥ 50 crore of
turnover.

(C) Formedium enterprises, it will be
Z 75 crores of investment and
% 200 crores for turnover.

(D) The criteria to classify MSMEs is
changed from “investmentin plant
and machinery” to ‘“annual
turnover”.

90. @3 fEs Al w3l Hifvrs Fce 57|
Jrecd @owg s oAz | GG wRel fege a3 =
C =20Q + Q* @ Q = A<l YT Ife |

w3l B Gfe® (5 AR Il
B = 100Q - Q?
GIOTZNR, TRTON 739 IR AR 251
(A) 20
(B) 40
(©) 60
(D) 80

91. Rl RIS o5 g1 FalE AL
[E 202
(A) 7RO, 1990-97 BCa e 41 |
(B) sTGsifsIial 1990-43 B s il |
(C) fRfesrcaten gad fsfm #1afSs |

(D) Toa1ft @™ @ @IE 9 v 919
ATF 0] 2 |

92. MSME Act 2006, kt¥iifdo ey 2020
SR (@G AT 772
(A) SIfoaFr Seolive @R AR AR
R o 9 @I Brel
@3] G FTTeTa Aol s (IS
B #Rf® i 1 291 |
(B) ®w R e @3z e
(TG AN TN I Bi=el
Q3R steet (I I o g =l
267 |
(C) RN A< ey [fwcisl @ (6
(TR S TG 75 (IS Bisp!
@R 200 &I B oiFE 3w
267 |
(D) Plantand machinery-cs &fecices
0 IS FeCT AT Srepd
MSME &1 ifds 31 203 |

[ Please Turn Over ]
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93. The banks which are implementing the Micro
Finance Programme linked with Self Help Groups
(SHGs) are
(A) Commercial Banks and
Co-operative Banks only.
(B) Regional Rural Banks and
Commercial Banks only.
(C) Co-operative Banks and Regional
Rural Banks only.
(D) Commercial Banks, Regional
Rural Banks and Co-operative
Banks.

94. The working of SEBI does not include

(A) to regulate the dealing of share
market.

(B) to check the foul dealings in share
market.

(C) to control the inside trading of
shares.

(D) to determine the Repo rate.

95. Select the correct statements related to the
NITI Aayog, using the code given below:

(i) It is to function as a vehicle of good
governance.

(i1) It hasto develop a holistic and inclusive
development model for the economy
integrating the needs of centre, states
and the local bodies.

(ii1) Ithastofocusontechnology upgradation
and capacity building forimplementation
of programmes and initiatives.

(iv) Ithasthreespecialised wingsrelated
to research, conflict resolution and team
India.

Codes:

(A) (i) and (ii)

(B) (i), (ii) and (iii)

(C) (1), (iii) and (iv)
(D) (i), (ii), (iii) and (iv)

93. S (oI (SHG) A I& NZCF! TR
(Micro Finance) 2F81afe (@@ aiF =ikl welifire
23, (Tafel 24

(A) sy AT TE @R TR
[F |

(B) wyig wNzxfers ¥l [iw @R
Fifafers = |

(C) TSI AF 9% ieferss 2o 77 |

(D) 3fafers =z, Seder A =
IR AN = |

94, RS @G SEBI-F FId S€YE % 2
(A) (RIS Jreicad fozrge |
(B) GRS QG ST FIao! (14 547 |
(C) C*}IF AN inside trading (T12®
@GfeR) fzrge <1l |
(D) Repo rate e w1

95, fagferiae 7T TP FF, NITI
Aayog TifFe we T@w () vaw
e
(i) AP qies foTiea e i |

(il) %, AET 432 FIN 2T SifEnefes
G fge F(a NLNoT Ty G Tz o)l
G TG TN (T (odl 341 |

(i) &8 R WA AR S technology
upgradation €<% capacity building &
qGg (e |

(iv) @3 Teafb Resire =< 2=, sicgael, [
3@ € U<R team India |

PO ¢
(A) (i) €3 (ii)

(B) (i), (ii) 3% (i)

(©) (i), (iii) 932 (iv)
(D) (i), (i), (iii) 93% (iv)
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96. Which of the following actas an instrument
to help in the borrowing by the government?
(i) Repo Rate
(i1) Reverse Repo Rate
(iii) CRR
(iv) SLR
Select the correct answer from the codes
given below:
(A) (iii) and (iv)
(B) Only (iv)
(C) (i) and (iii)
(D) (i) and (iv)

97. There is a rise in the NPAs of the public
sector banks in the recent years
(i) lower economic growth in the
country.
(i1) aggressive lending by banks in the
past, especially during good times.
(iii) lack of right loan-recovery legal
provisions.
(iv) banks switching over to a system-based

identification of NPAs.

Select the correct factors responsible for it
using the code given below:

(A) (1), (ii) and (iii)

(B) (i), (iii) and (iv)

(C) (), (i) and (iv)

(D) (1), (iii) and (iv)

98. State Governmentsin India, finance their gross
fiscal deficit by
(1) loans from the Central Government.
(i) market borrowings.
(iii) external borrowings.
Which of the statement(s) given above is/
are correct?
(A) (1) and (ii)
(B) (ii) and (iii)
(C) Only (ii)
(D) Only (i)

96. FIFT T el &AZEIF M FTeTRIOSHT
N (/@i ey
(i) N &5
(i) fFerf et %
(iii) 1. =117 =7, (CRR)
(iv) @. @&. 97, (SLR)
e @vel (@ A Tet @
GO
(A) (iii) 93% (iv)
(B) 819 (iv)
(C) (i) 9 (iii)
(D) (i) 93 (iv)

97. i ATl WESlrrs NPA-7 AR Jia
A= |
(i) oreR el 2gfa 1 2ew |
(i) STOITS AT FEF SIS & el 2w, RTee

PN |

(iil) 49 “TFRET AT WA AR
TSI |

(iv) =S 7F NPA-7 Pretafeies bizre
9 |
TAET (@FOul T2 FE TS FIF
(ufe) Fofers F ¢

(A) (1), (i1) ¥R (1ii)
(B) (i1), (ii1) @R (iv)
(©) ), (11) @R (iv)
(D) @), (i11) 4R (iv)
98. SRS AR FeI@ SmE @
SRR WG (Gross Fiscal Deficit) 7139 S 2

(i) FEET FAIFET (A Aot e |

(ii) ST (A el |

(iii) AT Al AZCEIT A |

Toifie T@q (wlenz e @A (@f)
Ao 2

(A) (i) 93% (ii)
(B) (ii) @3 (iii)
(C) wyg (i)
(D) w419 (i)

[ Please Turn Over ]
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99. The largest compact belt of high density of
population of India has the regions of
(A) Kolkata, Delhi, Haryana and

Faridabad.

(B) Gujarat, Maharashtra, Eastern
Coast.

(C) Manipur, Meghalaya, Mizoram,
Tripura.

(D) Bihar, Uttar Pradesh, West
Bengal, Punjab, Delhi and some
parts of Haryana.

100. Productivity of Indian Agriculture can be
enhanced by:
(1) Increased Public Investment.
(i1) Increased irrigation facilities.
(iii)) Higher support price to the
farmers.
(iv) Shifting workers from industry to
agriculture.

Selectthe correct answer using the codes
given below:
(A) (i), (ii) and (iv)
(B) (i), (i) and (iii)
(C) (ii), (iii) and (iv)
(D) (iii), (iv) and (i)

99, SIISIET (FIe (FIe SILF Geqelg FINET ?
(A) FeTrrel, fuam, 2faae @3 i |
(B) wGraTs, A, o7 Toa |
(C) esjz, e, feei=, fqoj= |
(D) 213, Tea 2o, sifpss, slig,
el @3z 2fzaeE fog o |

100. SRR FRT SeAMRIeTO| i FAC ARNEH ¢
() 3fEe weifa e
(i) 3fEe @ T A |
(i) IIFWR & AMES 0 TR e 2Wi |
(v) REewe (A FREFE Ao ZHE-
7 |
qpa wEewlE AR I AT Teas
fofere e ¢
(A) (1), (i) @R (iv)
B) (1), (i1) € (iii)
(C) (i), (ii1) €K (iv)
(D) (i), (iv) @R (1)
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